N = Ol & AF & ZF A
20129 =20ila LEHSIA HE1S ~ BHES

M HHEIS

A

HE: RIS FUBINUA BSLH
Sl RIS FUMEX (S5l &2
. _ o HEG =
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
EHE 1S 333,408 352,807 19,399
RIS FOIMIAMYA HSA5 136,596 157,646 A21,050
RIS FOIMEX 136,596 157,646 ~21,050
BIE1S FURXME 2 22,000 0 22,000
201 YEr2gy| 15,000 0 15,000
01 AtR2t2IH] 15,000 0 15,000
OFARIME 2| 15,000,000 *14] 15,000
405 Xt &HE St 7,000 0 7,000
01 LS EH S| 7,000 0 7,000
OFANXIME SZ2AH 7,000,000 14! 7,000
BE1S FUR0SBE 55, 100 55, 100 0
301 YBHEAS 55, 100 55, 100 0
05E-2 - BRHFESBAD 54,100 54, 100 0
oszy+g 200,002 #1501 %122 36,000
OSZ 4013 200,0002 #1501 x23| 6,000
OSH3o Ha&4T 20,0002 +1501+25]« 128 7,200
ou Sy 50,0002 982! 4,900
10 B AIAHI B A S 1,000 1,000 0
ONS L HAS BAT AyRa
1,000, 0002 14! 1,000
BE1S A2 2el 20,946 46,946 26,000
201 L2 Y| 6,946 6,946 0
02 ZZ=2YL| 6,946 6,946 0
OZZ23 2 AA 5,246, 0002 *14] 5,246
oozl 7000002 *14] 700
CNEETES 1,000,000 %14} 1,000
401 A2 HIL 20| 14,000 40,000 26,000
01 Al&H| 14,000 40,000 26,000
OBA FHE IM2I| BA
10,000,00024 *14! 10,000
OFAL 24 HIJIRIG AXIZAl
2,000,0002 *14] 2,000
OFAL 25 G ®IIAA FHHIZA
2,000,0002 *14} 2,000
BIR1S $FAR 37,050 49,600 A12,550
201 L2 Y| 16,500 16,500 0
01 At 22|t 11,500 1,500 0
oY+ 9,000, 0002 *14! 9,000
osg+g 1,500,000 %14} 1,500
ORgAREZ 1,000,000 %14} 1,000




SH HEIS
HE: RIS FOUBINUA BSLEH
ool RIS FUMEX (Sl &2)
. _ o HEG =
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
02 T2 5,000 5,000 0
O2HR3 5,000,000 14! 5,000
202 018 19,000 20,800 A1,800
01 20l 8] 19,000 20,800 A1,800
SETT 1,000, 0002 *14! 1,000
OJ|=H240{HI(1021) 1,800,000 102 18,000
405 Xt &HE St 1,550 12,300 £10,750
01 XHI LS ZH S| 1,550 2,300 ~10,750
ORIRIQIE FAX 350,0002 * 1CH 350
L 1,200,000 1CH 1,200
BES A2 1,500 6,000 A4,500
201 YEr2g Y| 1,500 0 1,500
02 ZB=2Y| 1,500 0 1,500
OFRY A2 SA B2
1,500, 0002 *14! 1,500
RS Al 154,007 53,949 148
BHEIS 472 FR=RA 154,007 153,949 148
RIS FUSRAY 150,540 150,540 0
401 A2 HIL 2T 150,540 150,540 0
01 Al&H] 150,000 50,000 0
O4E BSEX ¥ s42 FHI2A
20,000, 0002 *14! 20,000
O4Z T42 HHITA 15,000,000 14! 15,000
O4S BHTIDHA Ol RAHFHIZ A
23,000, 0002 14! 23,000
O6S B+ (HAYNEY FIH) AC2= DA
A 10,000, 0002 *14! 10,000
O3S MSU 222 ATEZ DHSBA
10,000,000 14! 10,000
O4S EX0IS Bh+2 &XBA
25,000, 0002 *14! 25,000
O7S A20tS A5HA HHIZA
15,000,000 14! 15,000
O7S 22012 T2 THIA
15,000, 0002 *14! 15,000
O4E EX0IS WYR 9 f4 OjAZ EHE
Al 17,000,000 14! 17,000
03 Al& 2 THH] 540 540 0
OA &2 150,000,000 %0.72/100%0.5 540
BE1E T2 3,557 3,409 148
101 Q1248 3,557 3,409 148
VPR EES TR 3,557 3,409 148




FH: HHEIS

B RIS A
SRl RIS AR2 FOUSAL (ol @2
. _ . e =
SN -EHH . (B) - MPAY - BE2 O &t 04 Sl ko HRE2
Ozz2el(Ma) o 33|
45,6002 x501 x62! 1,368
OfEd £x AUA(4 L Ol
45,6003 #4021 %122 2,189
EHE1sS HE 2SI 42,715 41,212 1,503
EHE1E =23 24,234 22,371 1,863
EHE1s 23] 24,234 22,371 1,863
101 @1214] 24,234 22,371 1,863
01 2= 24,234 22,371 1,863
OAl2tel 28+ 8,078& 1021 *300A| 2t 24,234
EH&E1s JI=2ZHl 18,481 18,841 A 360
EH&E1E J123l 18,481 18,841 A 360
201 L2 3,881 3,881 0
01 AtR2tel 3,881 3,881 0
OfH2A+SY 2,201,00024*14! 2,201
O=gl 7,000 1021 %23| x 128 1,680
202 (44l 4,600 4,960 A 360
01 SLHAObI 4,600 4,960 A 360
Ozl 1,000,000& *14! 1,000
OJl2gR==80tl(102!) 1,800,000& 22 3,600
203 H 2 =&l 10,000 10,000 0
01 /2 2E PR FAH| 6,600 6,600 0
OJlzeYYLREY) 6,600,000 *12! 6,600
02 Z3IHHHRFEH| 400 400 0
O IAH R = 40,0003 102! 400
04 REAZ2EHRFAH 3,000 3,000 0
OfH2IYR=TY) 250, 0002 * 122 3,000




